5. Management Status of Radioactive Solid Waste by Fiscal Y ear

fiscal year
1987 1988 1989 1990 1991 1992 1993 1994 1995 1996
plant
name
Amount of drums generated 0 32| 228 217 33| 33| 268| 41| 450
(number of drums)
Amount of drums of strage
accumulated 0 32 260 421 734 1,070| 1,338| 1,749 2,199
o (number of drums)
c Amount of reduction of drums of
g incineration etc 0 0 0 56 0 0 0 0 0
o g (number of drums)
g o [Amount of reduction of drums
DC.> 5 carried out 0 0 0 0 0 0 0 0 0
o % (number of drums)
g Q_. Amount of other kinds of generation
ﬁ & 0 0 0 35 8 25 0 8 54
o g equivalent to number of drums)
3 | F |Amount of other kinds of strage
< accumul ated 0 0 0 35 43 68 68| "1 75 129
jc:’ equivalent to number of drums)
Amount of reduction of other kinds
of comoressions etc. 0 0 0 0 0 0 0 0 0
equivalent to number of drums)
Amount of storing equipment
capacity 18,000 | 18,000 ( 18,000 ( 18,000 | 18,000 | 18,000 | 18,000 | 18,000 | 18,000
eguivalent to number of drums)
Amount of drums generated 1160| 1282| 1214 1231| 85| 1077| 2309| 2258 2675 2629
(number of drums)
Amount of drums of strage
accumulated 21,311 | 22,544 | 22,933 | 23,474 | 23,856 | 24,121 | 22,013 | 19,845 21,544 | 23,331
(number of drums)
Q Amount of reduction of drums of
- incineration etc 15 49 825 690 433 812 417 586 336 842
8 = (number of drums)
« | I |Amount of reduction of drums
g % [carried out 0 0 0 0 0 0| 4,000( 3,840 640 0
£l 3 (number of drums)
E Q- | Amount of other kinds of generation
3] g 106 128 63 66 35 55 119 46 470 92
m|< equivalent to number of drums)
B = [Amount of other kinds of strage
& accumul ated 1953 1 2082["t 2,144t 2211|"t 2245| 2300 2419 2465 2591( 2,683
X equivalent to number of drums)
Amount of reduction of other kinds
of compressions etc. 2,463 0 0 0 0 0 0 0|t a43 0
equivalent to number of drums)
Amount of storing equipment
capacity 35,000 | 35,000 | 35,000 | 35,000 35,000 35,000 35,000 35,000 *235,000 35,000
equivalent to number of drums)
Note:  *1 The reasonwhy the sum of the amount of storage accumulated at the end of the previous fiscal year and the amount generated in thisfiscal year are

not correspond to the values is due to the error from rounding off the conversion cal culation.
*2 The amount of carrying out (149) to the steam generator keeping warehouse is included.

*3 Five steam generators in the machine common steam generator keeping warehouse and 505m° keeping containersin unit 1 and 3, and two steam




